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We are learning to multiply the answer by the denominator SO THAT we can find the starting amounts.
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We are learning to multiply the answer by the denominator SO THAT we can find the starting amounts.
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4. Millie says the starting amount for this fraction is 30. 


Is she correct? Prove it. 
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John says: The whole is 63. 
Is he correct? Prove it. 
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We are learning to multiply the answer by the denominator SO THAT we can find the starting amounts.
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Rosie is finding fractions of an Jake is finding fractions of an amount.
amount. She knows that % of her He knows that % of her number is 8.

number is 6.
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Use the bar model to find the whole. Use the bar model to find the whole.
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% of a numberis 7.

Complete the bar model to find the

whole.
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Danny is calculating a whole number
from a fraction.

He says,

(N
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| know% of a number is
5. To find the whole | can
divide by 4.

Is he correct? Explain how you know.
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Anna knows % of a number is 9.

Use this information and the bar model

above to complete the sentence below:
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Margot completes the following
calculation in her book but she has made
a mistake.

If % is 18, then the whole is 36.

Find the mistake that she has made.

Draw a bar model to prove your answer.
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Sam and Brad are each building a
tower of blocks.

% of Sam’s tower is é blocks.
2_ of Brad’s tower is 8 blocks.

Who has the tallest tower?
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Taryn completes the following
calculation in her book but she has made
a mistake.

If % is 15, then the whole is 9.

Find the mistake that she has made.

Draw a bar model to prove your answer.
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L of a number is 21.
15
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5b. Millie is finding fractions of an

amount. She knows that % of his

number is 30.
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David completes the following - Lilli completes the following
calculation in his book but he has made calculation in her book but she has made
a mistake. a mistake.

If %is 12, then 2 is 16 and the If % is 18, then 2 is 8 and the

18 5
whole is 32. whole is 30.

Find the mistake that he has made. Find the mistake that she has made.

Draw a bar model to prove your answer. Draw a bar model to prove your answer.
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Ava, Louis and Ivy are each making a
bunch of flowers.

% of Ava’s bunch is 8 flowers.

1
Ivy’s bunch is vy larger than Ava’s.

Louis bunch is + smaller than Ivy’s

Who has the largest bunch of flowers?

Wilf, Dominic and Ben are each
making a balloon display.

% of Dominic’s display is 12 balloons.

3
Wilf's display is ﬁ smaller than Dominic’s.
Ben's display is == Iqrger than Wilf’s.

Who has the Iqrgesi_bqlloon display?
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Hendal Primary School

Belong, Aspire, Achieve.




